Turf Production and Management
Unit 1:  Fundamentals of Plant Science and Principles of Pest Management

Lesson 5:  Perpetuating the Species 

Sexual Reproduction

1. ________________ is the study of inheritance.

2. Define heterozygous.

3. _____________ is the condition in a cell in which the chromosomes are in pairs.
4. The external physical appearance of a plant is the _______________.

5. Complete the following table, using the principles of the single character trait.

Given:          Y = yellow (the dominant trait)
                     y = white (the recessive trait)

                     R = round (the dominant trait)

                     r = pear shape (the recessive trait)

                             Male Sex Cells
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6. Out of the total of 16 possible genotypes, calculate the expected number of phenotypes:
Yellow, round           ________________

Yellow, pear shaped ________________

White, round             ________________

White, pear shaped   _________________

7. Define meiosis.
8. ___________ is the upper section on the stamen that houses the pollen.
9. In what part of the ovary does the egg develop and give rise to a seed?

10. Define Genotype.

11. The ___________ is the slightly sticky upper part of the pistil that collects the grains of pollen.

12. A ____________   _________is a trait in a genotype that may be present but is not expressed in the phenotype.
13. Define cross-pollination.

14. Who founded the basic principles of genetics?

15. Give two examples of pollinators.

16. The ______________ is the stem-like portion of the pistil.

17. _____________ _____________ determines the phenotype.
18. When the chromosomes are singular within a cell the cell is ____________.

19. Complete the following table, using the principles of the single character trait.

Given:           I = insect resistant (the dominant trait)

                      i = insect susceptible (the recessive trait)

                     D = drought resistant (the dominant trait)

                     d = drought susceptible (the recessive trait)

                                               Male Sex Cells
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	Female Sex Cells
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20. Out of the possible genotypes, how many would be expected to be:

Insect and drought resistant                       __________
Insect resistant but not drought resistant   __________
Drought resistant but not insect resistant  ___________
